CS 4/53201 Homework #3 Operating Systems

Due in class on Monday 9 November 1998

1. (Exercise 7.6 from OSC) In areal computer system...

2. (7.13from OSC (7.11 in the 4™ edition), modified as follows) P3’smax is“165 2", and P4's
max is“1656". For part c, if arequest from process P4 arrivesfor (1,4,1,0)...
Fully explain your answers!

3. (Exercise 8.4 from OSC (8.3 in the 4™ edition)) When a processisrolled out...
4. (Exercise 8.7 from OSC) Why are page sizes...

5. (Exercise 8.11 from OSC) What is the effect...



